SA:

SENF 2%

BE: HLASR RXS FUFEH(MEY - FAIY/RLAUSIRI)
el CHRIXIRE LA A &8 (=& JH)
A" G(3) - MPAY - B Ofl &t e HIDE2

SR X2% 333,556 383,000 N49,444
Xl 125,000
& 208,556

J.l'l?l*;\f%*ﬂ SXNE HHFA (MY - SAIG/RALER 307,000 353,000 46,000
Xl 125,000
< 182,000

SHRIXI T AR = 307,000 353,000 46,000
Xl 125,000
& 182,000

SARX #dst =4 182,000 228,000 A46,000

201 LBt 82,000 117,000 A 35,000

01 At 22|l 65,000 90,000 A25,000
OHLASEI dHRARZ 2 5,000
OF AR 2T 10,000
Qg2 29 10,000
QIHLAILASET NE & FARI SHA 40,000

03 A2 Z HI 17,000 27,000 A 10,000
OF AR 2T 7,000
ONLAIS A F2EHF| IHE 10,000

202 4dl 30,000 40,000 A 10,000

01 S LHOYI 30,000 40,000 A 10,000
O=U2 JI EXNRX F& 30,000

203 R F=&H| 10,000 10,000 0

03 Al B Z=X AR &Y 10,000 10,000 0
OFNRX g =& 10,000

301 L8 a3 45,000 61,000 A 16,000

06 B2+ =321 (4| 15,000 15,000 0
ool FUsX s M2t N 15,000

07 2el=& 0l 15,000 20,000 A5,000
ool EXUA =& 15,000

09 HALAHIE &3 15,000 26,000 A 11,000
OFNRALHs & 82t =& 10,000
OF049s FAL 24 5,000

308 AHXISHHSOI& 15,000 0 15,000

10 SO 2SOICHEH Z & X T AL S B 15,000 0 15,000
O==20tNY EX7mA =& 15,000

Hne EXA g2(=1) 125,000 125,000 0
Xl 125,000

201 LBt 50,000 50,000 0
Xl 50,000
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Sol: HRIXITE HEAR 2 (Brol:®2)
A" G(3) - MPAY - B Ofl &t e HIDE2

03 A2 2t 50,000 50,000 0
02U SNRXLH3| Ha 50,000
Xl 50,000

202 01t 75,000 75,000 0
X 75,000

01 =SLHOHI 15,000 15,000 0
OBUEXX 22 =7 15,000
N 15,000

03 =L 20l 60,000 60,000 0
OISR 22 =7 60,000
N 60,000

HY 2L IH(FEURRI22)(IIEHIIEH 26,556 30,000 A3,444

122 26,556 30,000 N3, 444

=AY =AY 26,556 30,000 N3, 444

201 2 EH2EH| 13,656 18,000 A4,344

01 At 2t2lbl 13,656 18,000 A4,344
ORM2E A2/t 13,656

202 01t 9,900 9,000 900

01 2ULHO1 | 9,900 9,000 900
ORMNEY 2L40it] 9,900

203 2=l 3,000 3,000 0

04 FA2IERFEH 3,000 3,000 0
©152! 0lat 250,000% 12 3,000




